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QUESTION 1

A system administrator needs to install the IBM Installation Manager for WebSphere Application Server Network
Deployment V8.0 using a non-root account. What step must the administrator take so that the installation can be
managed by two different non- root user accounts? Install the IBM Installation Manager: 

A. in group mode. 

B. in non-administrator mode. 

C. using the configurator administrator role. 

D. using a primary and secondary account. 

Correct Answer: A 

 

 

QUESTION 2

A system administrator needs to add a business capability to an enterprise application (EAR). The capability is an OSGi
bundle distributed as a separate Java archive (JAR) by a third-party application provider. How should the administrator
do this? 

A. Deploy EAR and define the JAR as a shared library reference. 

B. Include JAR in EAR\\'s lib directory and deploy the modified EAR. 

C. Create a business-level application (BLA) with the EAR and the JAR. 

D. Modify the EAR deployment descriptor\\'s library-directory to include the directory with the JAR. 

Correct Answer: C 

 

 

QUESTION 3

A system administrator needs to submit a wsadmin job to change the configuration of an enterprise application within a
flexible management environment. What should the administrator do? Connect to: 

A. Node Agent 

B. Administrative Agent 

C. Job Manager 

D. Work Manager 

E. Deployment Manager 
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Correct Answer: CE 

 

 

QUESTION 4

Performance issues have caused several high profile outages in a WebSphere Application Server Network Deployment
V8.0 environment. The application developer has isolated the problem to one specific application. To assist with the
problem diagnosis a system administrator has been asked to enable the highest level of WebSphere tracing available. 

How should the system administrator accomplish this? Enable tracing and set the level to: 

A. * 

B. all 

C. finest 

D. debug 

Correct Answer: B 

 

 

QUESTION 5

A system administrator is creating a new WebSphere cell consisting of three dedicated machines: ?web server
?deployment manager ?application server node To provide process level failover, the administrator should create a
cluster with: 

A. no scaling 

B. vertical scaling 

C. horizontal scaling 

D. horizontal and vertical scaling 

Correct Answer: B 
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